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yyg . 13 : Select the correct sentence
(A) Johnis a good player, (B) Johnisa good

isn’t he? player, 1s not
John?
(C) Johnis a good player,is (D) Johnisa good
John ? player, is he ?

uyyq . 14 : To break the ice means ----
(A) to start a specific work. (B) to ease difficult
. task.
(C) to do hard work. (D) toclimb
mountain of ice.
yyT . 15 : Choose the correct sentence.

(A) Ienjoy to play golf. (B) 1enjoy to have

played golf.

(C) 1am enjoying playing (D) 1enjoy playing
golf. golf.

uyT %. 16 : The book is translated -------- many languages.
(A) in (B) from
(C) into (D) upon

ysT &. 17 : My boss was kind enough to accede -------- my request
for leave.

(A) with (B) on

(C) i (D) to

yyT . 18 : The girl said, “May I wear this sarree, mother?”

(Change into indirect speech)

(A) The girl asked her (B) The girl asked
mother if she might wear her mother that
that saree. may I wear this

saree?

(C) The girl asked her (D) None of the
mother if she may wear above.
this saree.

uyT %. 19 : A place where bees are kept

(A) Zoo (B) Awiary

(C) Apiary (D) Executor

vy %, 20 : Select proper pronoun.

One should be proud of ---------- motherland.

(A) his (B) ones

(C) one’s (D) once
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: Verdict means ----

(A) Decision by an (B) Decision by Priest.
Engineer
(C) Decision by Doctor (D) Decision by a Court
of Law
: Each of the rooms ------ cleaned in the morning.
(A) are (B) Were
(C) was (D) Have been
: Choose the correct alternative. She knows that he ----- in

the factory at this moment.
(A) has working (B) works
(C) has been worked (D) is working

: What is the meaning of following words ---

Folly :
(A) Madness (B) Advantage
(C) Courage (D) Enemy

: What is the meaning of following words ---
Intimidate :
(A) Frighten (B) To give courage
(C) Romance (D) Scold
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